Droites Numériques (A)

Complétez cette droite numérique par les nombres manquants.

| | |
1291

Différence commune:

| |
1891 1991

Différence commune:

| | |
8941

Différence commune:

! ! !
7530

Différence commune:

! ! !
8812

Différence commune:

! ! !
6068

Différence commune:

Différence commune:

! !
7798 7873

! ! !
5845 6045

Différence commune:

! !
6145 6245

Mathslibres.com




Droites Numériques (A) Réponses

Complétez cette droite numérique par les nombres manquants.

| | |
1091 1191 1291

Différence commune:

| | |
1391 1491 1591

100

!
1891

1
1991

| | |
3595 3620 3645

| | |
3670 3695 3720

Différence commune:

25

|
3820

| | |
8941 9041 9141

Différence commune:

| | |
9241 9341 9441

100

|
9841

! ! !
7530 7555 7580

Différence commune:

! ! !
7605 7630 7655
25

1
7755

| | |
8712 8762 8812

Différence commune:

| | |
8862 8912 8962
50

1
9162

| | |
5868 5968 6068

Différence commune:

| | |
6168 6268 6368
100

|
6768

| | |
7573 7648 7723

Différence commune:

| | |
7798 7873 7948
75

|
8248

! ! !
5845 5945 6045

Différence commune:

! ! !
6145 6245 6345

100

|
6745
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